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S Zo| A 5.1 T A7V L AFE BT IEA Q.

il

@® 5.01 @5.10 ® 5.010 @5.100 ® 50.1

44114 ot & #e]9] 02 =S 4= 5U
7 ot & AH=] 9] 0 2 A=kt LYEHHA
@ 51 @ 5.01 @ 5.1 4Yrtt.
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ThS &= Zo)| A 4.09 BT} 331 454 Hh e 4 = @ sjeln 7))

4.62,4.51,4.25,4.8,4.3,4.07

o5 @4 @A @28 ©1A

2 AR 22 of A A A2 9] £AHE v W o
409ETH 33 454 Bk 22 = 4.51,4.25,4.3 2 374Ut




@® 6.540,6.543 @ 6.541,6.544 ® 6.542,6.545

@)6.543,6.505 ® 6.544,6.546

& -9} b zfol7} Lhi=a] AW B,
— 0.001% AR Y5UTt
A [ ]=6.542+ 0.001 = 6.543

=AA [ ] = 6544+ 0.001 = 6.545
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1 2) 3-—
W 1550 @) 3155
® (1) 6.74 (2) 3.30 @ (1) 6.74 (2) 3.300
® (1)6.74 (2)3.3 @ (1) 6.074 (2) 3.03
@) 6ors (2)33
74 74
(1) 63500 = 6+ Tog = 6+ 0-074 = 6.074
30 30
()3ﬁ 3+ 159 = 3+030=330=33




( ) 256m = |km

) 9056 m =|_|km
D (1) 2560 (2) 9.056 @ (1) 2560 (2) 90560
@(1) 0.256 (2) 9.056 @ (1) 0.256 (2) 90560

® (1) 2.56 (2) 9.056

(1) 1000m = 1km
256 m = 0.256 km
(2) 9056 m = 9.056 km




9. The %5 ol gol 1 B} 2 2L oL AYUA

@® 0.70 + 0.29 @0.39 +0.62 ® 0.62 +0.37

@ 0.51+0.48 ® 0.54+ 045

D 0.70+0.29 =0.99 @ 0.39 + 0.62 = 1.01
® 0.62+0.37=0.99 @ 0.51+ 0.48 = 0.99
® 0.54 + 0.45 = 0.99




54cm + 2.3 m

[ Im

> =
> ®He: 284
54 cm = 0.54m

0.54m + 2.3m = 2.84(m)
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16.78-8.093 - 278 = |-2.78 = |

@® 8.694, 5.917 @8.687, 5.907 ® 8.697, 5.927

@ 8.687, 5.909 ® 8.685, 5.917

16.78 — 8.093 — 2.78 = 8.687 — 2.78 = 5.907




12, H|2E AT 3276k, 550l 6.73kg RHGYT. &55N
of H3 W2 Aol B wmucet @ kg o] WA oL

» E. ke

[> FE ! 3454kg

6.73 — 3.276 = 3.454(kg)




13. ©heg vt ALE AL 124,

(1) 7.81 4 2.89 - 2.31 (2) 3.334+11.32-8.73
@ (1) 8.29 (2) 5.82 @ (1) 8.29 (2) 5.92
® (1) 8.38 (2) 5.82 @ (1) 8.39 (2) 5.82
@) .39 (2) 5.92

(1) 7.81 +2.89 — 2.31 = 10.7 — 2.31 = 8.39
(2) 3.33 +11.32 - 8.73 = 14.65 — 8.73 = 5.92
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0.49 4+ 0.85(00.3 +0.96

vV V¥
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0.49 + 0.85 = 1.34, 0.3 + 0.96 = 1.26 °]|B.=
whehA] 0.49 + 0.85 > 0.3 + 0.96




15. 1 Hop 2k2 24 A 28] & & 71 2 £HEE0.02 22 = 4ot
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| 8ok Ak 2% A 24 5 F 7 2 S 0.999 AUk
0999 50} 0.02 2H2 - Ak B A2 £} 2 2 ol

2 0.979 44t
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42 [150]
+ [1. 816
[]1 .62
» &
> HMeh: 30
42 EHS5O
+ [E. 8E6
1,62

L4+6=10, L =4
1+5+2=12, 2=6
1+7+48=16, 1=7
1+2+c=11,==8
l+4=mn,0=5

42 [@5[4]
+ [E. 8@E6

Bl1. 62

ahebA] [Jerel Solg S:AH59] de 300]ch.




| Z2] & Sl 71 A2

0.31

0.137 4 0.173 = 0.31




o A= A2t o] 4=9jut},

e 109] #] =217} 2

o 19 22| =271 3

e 0.19] 22| £271 6

¢ 0.019] ZF2] =271 5

° 0.001 9] 22| =27} 6 Hok YT
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10 9] zHe] 5217k 20141 1.9] 2] 5247} 3

0.19] 22 =271 60| 2 0.01 92| $:27} 50|22 2365 |
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aRAEro = 0.001 9] AH o] #AF 6 HH A B R

23.657, 23.658, 23.659 & 37]d 1t}
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S5 ~
18 — 800mL

78 — 800 x 7 = 5600( mL)

5600mL = 5.6 L

Ag =50 AN =9 F 1 5.6+ 5.6 =11.2(L)




